Strand 4 Unit 3 Answers
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Strand 4 ¢ Fractions ® Unit 3 * Multiplying fractions * Band e

Skills practice B

1 6 sweets
£800000
5% tonnes (5.333... tonnes)

50 hectares

0 0 U Q

2 a Potatoes 8 squares out of 12; peas, 3 squares out
of 12; asparagus 1 square
3

Cc 1acre

o

3 a 8squares (from 12) for flat fish; 3 squares from
12 for codling, 1 square for a variety of fish.
b 150. The weight of codling fish landed.
c 50kg

4 a 50

1
b g
1

C 16

.3 .3 Nina- L
5 John: 5 Peter: 10’ Nina: 0

1 DYNAMIC
‘ © Hodder & STOUghTOn Ltd 2014 . m



a
b 23

w
D= Alw

[+

()]

d
23

4 130m

5 a 18% miles
b 25 miles

6 a 2% hour
b % hour = 25 minutes
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16000 metres; 6%

9 7% pizza

10 garlic bread leaves
5 lettuce
23 tomatoes

21 salad cream bottles

4 coleslaw tubs
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